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1. After pursuing a course in gemmology from Australia, Raj started a workshop in Surat 

to supplement his father’s jewellery business in Delhi. He is used to speaking in 

English but the local skilled workers understand only Hindi and Gujarati. Hence, he 

started facing problems in the work due to miscommunications between him and the 

workers. As a result, he is not able to get the jewellery designs made in the desired 

manner and getting them redesigned turns out to be very expensive. 

In the context of the above case: 

a) Define the term ‘communication’. 

b) Identify the type of communication barrier being referred to in the above 

paragraph. 

c) Suggest any four measures by which he can improve his communication 

effectiveness. 

 

2. Nikhil runs a small dhabba on the Jaipur highway. He is very rigid and follows a strict 

policy of punishment like cutting the salary, stopping increments or giving job 

termination threats to his workers for any kind of discrepancies in their work. He does 

not seek advice or opinions from his workers, as he does not have any confidence on 

the competence of his workers. Also, the workers are not willing to offer useful 

suggestions as they do not expect any motivation or incentive for taking such 

initiatives. As a result, the labour turnover is high and his business has been adversely 

affected. 

In the above context: 

a) Name and explain the style of leadership adopted by Nikhil. 

b) Identify the various human needs of workers that are being overlooked by Nikhil 

as per the Maslow’s need hierarchy theory of motivation. 

c) Identify the type of communication barrier created by Nikhil due to which the 

workers suppress their need to communicate with him. 

 

3. Gagan has joined as a Managing Director of True Help Ltd., a company engaged in the 

business of providing road side assistance to the vehicle owners. He was previously 

working in an automobile company. As a part of the joining incentive, the company has 

allotted him 400 shares of the company. 

In context of the above case: 

a) Identify the type of source of recruitment used by True Help Ltd. to fill up the post 

of Managing Director. 

b) Identify the type of financial incentive offered to Gagan. Also, state any one other 

method that can be used to offer financial incentives to the employees. 

 



4. Shruti has established a small scale factory after completing a course in textile 

designing. She has tied up with the big home furnishing retail outlets in the city for 

supplying to them good quality designer home furnishing products like bed covers, 

cushions etc. She believes that controlling without planning is blind. So, every time she 

gets an order, she sets the standards in terms of the number of personnel required, the 

estimated requirements in man-hours per product, the requirements of direct materials 

for the projected production and the amount of normal overhead expenses required at 

the projected work-load. She also keeps a close watch on the activities so as to ensure 

that they conform to plans. Whenever the order size is too large, she hires extra 

workers by placing a notice on the notice-board of the factory specifying the details of 

the jobs available. 

In context of the above case: 

a) Identify the functions of management being performed by Shruti. 

b) Do you think Shruti is right in her thinking that, “controlling without planning is 

blind.” Explain by bringing out the relationship between planning and controlling. 

c) Name the source of recruitment adopted by Shruti. Also, mention its type. 

 

 

5. ‘AS Ltd.’ is a large company engaged in assembling of air-conditioners. Recently the 

company had conducted the ‘Time’ and ‘Motion’ study and concluded that on an 

average, a worker can assemble ten air-conditioners in a day. The target volume of the 

company in a day is assembling of 1,000 units of air-conditioners. The company is 

providing attractive allowances to reduce labour turnover and absenteeism. All the 

workers are happy. Even then the assembling of air-conditioners per day is 800 units 

only. To find out the reason, the company compared actual performance of each 

worker and observed through CCTV that some of the workers were busy in gossiping. 

a) Identify the function of management discussed above. 

b) State the steps in the process of the function identified which are discussed in 

the above paragraph.  

 

6. “Time Line” watch manufacturing company is a renowned company marketing watches. 

It performs various activities like, market analysis, product designing or merchandising, 

packaging, warehousing, branding, pricing, promotion and selling. The company 

maintains good customer relations through various follow up activities. This helps the 

company in procuring repeat sales orders. 

a) Name the concept related to the activities mentioned in the above paragraph. 

b) Explain any two features of the concept identified in part (1)  

 

 

7. Radhika was a student of Business Studies of Class XII. Her father was a farmer who 

grew different varieties of rice and was well-versed in the various aspects of rice 

cultivation. He was also selected by the government for a pilot-project on rice 

cultivation. As a project work in Business Studies, she decided to study the feasibility of 

marketing good quality rice at a reasonable price. Her father suggested her to use the 



Internt to gather customers’ views and opinions. She found that there was a huge 

demand for packaged organic rice. She knew that there were no predetermined 

specifications in case of rice because of which it was difficult to achieve uniformity in 

the output. To differentiate the product from its competitors, she gave it the name of 

‘Malabari Organic Rice’ and classified it into three different varieties, namely — 

Popular, Classic and Supreme, based on the quality. She felt that these names would 

help her in product differentiation. 

Explain the three functions of marketing with reference to the above paragraph  

 

 

8. Crackers Ltd., a fire-cracker manufacturing company launched some new products on 
eve of Diwali which attracted many buyers. To meet the increased demand, the 
company employed children from nearby villages. Although the product was in great 
demand, appropriate safety warnings for use were not mentioned on the packets that 
led to many accidents. 

a) Identify and explain the important product-related decision that was not taken 
into consideration by the company. 

b) Also, identify any two values which were violated by the company.  
 
 

9. Ajay was appointed as the marketing head of Alfa Enterprise, a manufacturer of 
toothpastes and toothbrushes. His target sale was 2000 units a month. Apart from 
thinking about various channels of distribution to achieve the target, he himself started 
visiting schools in backward areas. He found that even after taking various steps and 
counselling, some school children had not started brushing their teeth. He investigated 
and found that they could not start brushing their teeth. He investigated and found that 
they could not afford to buy toothbrush and toothpaste. So with due permission, he 
started donating 200 toothbrushes and toothpastes every month to the school. 

a) Identify the channel of distribution Ajay would adopt for the distribution of 
toothpaste and toothbrushes and justify it by giving one reason. 

b) State any two values which Ajay ants to communicate to society.  
 
 

10. Suraj is a small entrepreneur involved in the manufacturing of hair wax. He finds 
that cost of production of 100 gm of hair wax is Rs. 250. He has decided to keep a 
margin of 15% as profit. Moreover, he has assessed that there is a free competition in 
this product segment. 
In the context of above case: 

a) Identify the function of marketing being performed by Suraj. 
b) State briefly the two factors that he is taking into consideration while performing 

the function as identified in part (1). 


